
Operation Operations                                                                                      Day 6

Skills: Place value, Addition, Subtraction with regrouping, Measurement, Recognizing shapes 

1. Write the place value of 𝟔 in the numbers below.  

a. 𝟏𝟔𝟓, 𝟎𝟎𝟎      ________    

b. 𝟐, 𝟒𝟎𝟔, 𝟐𝟒𝟎  ________ 

c. 𝟔𝟎    ________ 

2. Write the value of 5 in the numbers below  

(the first one has been done for you) 

a. 𝟐𝟓𝟏    𝟓𝟎 

b. 𝟑𝟒𝟓   ________ 

c. 𝟓, 𝟖𝟗𝟎   ________ 

d. 𝟓𝟔, 𝟏𝟏𝟐  ________ 

3. Calculate the difference between the values of 𝟔 in 

𝟏𝟐, 𝟔𝟖𝟕and 𝟕 in 𝟐𝟏, 𝟖𝟔𝟕 

________________ 

4.    

  𝟐 , 𝟑  𝟎  𝟐    𝟐 , 𝟎  𝟎  𝟎 
+       𝟔  𝟖  𝟔  −  𝟏 , 𝟗  𝟗  𝟗 

     
 

5. Fatima’s daddy gave her 𝑵𝟐𝟔, 𝟎𝟎𝟎. She used 

𝑵𝟏𝟒, 𝟐𝟎𝟎 to buy a cart and 𝑵𝟓, 𝟎𝟎𝟎 transporting it 

home. How much does she have left? 

 

6. Measure the lines below using a centimeter ruler and write 

the measurement 

_______________________________ 

______________________ 

7. Fill the table with the value and place value of the odd digits 
in 

𝟒𝟏, 𝟓𝟐𝟒, 𝟐𝟕𝟖, 𝟔𝟑𝟗 

Digit Place Value Value 
7 Ten thousand (10,000) 70,000 

   

   
   

   
8. Perform the operation and write the answer in words 

 (𝟔𝟑, 𝟏𝟒𝟗 + 𝟐𝟎𝟎𝟎) × 𝟑 
________________ 

9. Use the clues to name and draw the shapes below 

 Clues Name Sketch 

1.  My opposite sides are equal 

I have four right angles 

  

2.  I have no sides 

I am perfect “all round” 😊  

  

3.  I have three angles 

I have three sides 

  



Operation Operations                                                                                         Day 6 

Multiplication and Division: 0, 1, 2, 3, 4 and 5 times 

 

× 𝟏𝟎 𝟒 𝟖 𝟏𝟏 𝟓 𝟑 𝟐 𝟏𝟐 𝟕 𝟔 𝟗 𝟏 

𝟑             

𝟓             

𝟏             

𝟒             

𝟐             

𝟎             

𝟒 × 𝟎 = 𝟒 × 𝟏 = 𝟓 × 𝟖 = 𝟑𝟐 ÷ 𝟒 = 𝟏𝟎 ÷ 𝟐 = 𝟑 × 𝟓 = 

𝟓 × 𝟐 = 𝟑𝟔 ÷ 𝟒 = 𝟓 × 𝟑 = 𝟑 × 𝟐 = 𝟒 × 𝟑 𝟐𝟕 ÷ 𝟑 = 

𝟐𝟎 ÷ 𝟒 = 𝟒𝟓 ÷ 𝟗 = 𝟑𝟓 ÷ 𝟓 = 𝟑𝟔 ÷ 𝟒 𝟓𝟓 ÷ 𝟓 = 𝟒 × 𝟏𝟎 = 

𝟓 × 𝟏𝟏 = 𝟐𝟖 ÷ 𝟒 = 𝟓 × 𝟓 = 𝟒𝟎 ÷ 𝟒 = 𝟑𝟑 ÷ 𝟑 = 𝟐𝟒 ÷ 𝟑 = 

𝟒𝟎 ÷ 𝟓 = 𝟔 × 𝟓 = 𝟏𝟐 ÷ 𝟒 = 𝟖 ÷ 𝟐 = 𝟒 × 𝟕 = 𝟑𝟎 ÷ 𝟑 = 

𝟒 × 𝟏𝟐 = 𝟔𝟖𝟐𝟖 ÷ 𝟐 = 𝟒 × 𝟖 = 𝟖𝟒 ÷ 𝟒 = 𝟖𝟖𝟒 ÷ 𝟒 = 𝟒 × 𝟗 = 

 𝟓 𝟖 𝟗   𝟒 𝟕 
   𝟖 𝟏 𝟗 

  𝟗 𝟗 𝟒 𝟎 

× 𝟐  × 𝟓 
 × 𝟒 𝟏 

 × 𝟑 𝟎 

 
 

       


